| Efficiency vs Dxy |
0.1

B 0,00
< A T T
R e
Soo7

dxy

efficien

S L
oot b
GO
GOk

002
Y S G T

J..\.inllilIlli””i””il

Ratio

O%bs “STIETIGE 6 B 1615 30 25

TP dxy (cm)

ici —— D paretofront5_ PU
| EfflClency vs Dz | —— D paretofront6_PU
0.5

—=— DQM_TT original
— D§M_ﬂ_ aretofront4_PU

s dz

—— D — paretofront8”PU
20,45 e o S

a‘ E : : : : :
§ OAf
(8] r : : : . .
£ 0.35 o Frrereree frorereeeee A
o - : : : : :

O e e R

025 * -----------

P JHPYRE b
=L v 8 B

L1 PET (T 4] | |:

B/ T20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


